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Sl. No.1
QBID:1554931

Choose the correct form of verb to fill in the blank.

Will the union leader ?

(1) arrested
(2) be arrested
(3) was arrested
(4) were arrested
%Y gad e &1 §9 S 89 & oy fe fas &1 vam fem e 2
(1) &4
(2) FiF=Hg
(3) =9HE
(4) %
1[Option ID=8201]
2[Option ID=8202]

3[Option ID=8203]
4[Option ID=8204]

Sl. No.2
QBID:1554932

Choose the appropriate preposition to complete the sentence :

The young child carried the heavy bucket the stairs.

(1) by

(2) from

(3) above

(4) besides
o f e s me ds a5 2 ?
(1) TeHaES

(2) FoEmEs

(3) AT

(4) HHIAEE
1[Option ID=8245]
2[Option ID=8246]

3[Option ID=8247]
4[Option ID=8248]




Sl. No.3
QBID:1554933

Pick out the correctly spelt word.
(1) accommodation

(2) acommodation

(3) accomodation

(4) acmodation

TERET A e sA R vag g ?
(1) &g

(2) Hg

(3) HIRS

(4) @

1[Option ID=8273]

2[Option ID=8274]

3[Option ID=8275]
4[Option ID=8276]

Sl. No.4
QBID:1554934

Identify the correct form of indirect speech of the followmg sentence.

Arpit says, "She is an mtelligent girl".

(1) Arpit says that she is an mtelligent girl.
(2) Arpit said that she is an intelligent girl.

(3) Arpit said that she was an mtelligent girl.
(4) Arpit asked hin if she is an intelligent girl.

i &1 U 3y Y §: s iU (Assertion A) & w4 H faf@d € df gwR1 39 SRU
(Reason R) & =0

HfiEYT A - 9uil & =Ry 1 99 F vad $5d 51

SR R ; At 31 a1 % YR T Y U0d ©f O¥E & 5 & - o Uad SN g
prC

SUled HYF & S H, A [3u 10 eyl A 9 999 Suged IR &1 994 i
(1) A SRR EH T8 8 #RR, A 95 e &

(2) A 3R R M 961 & 9fE4 R, A 31 951 sore 751 &

(3) A T2 e R udl AE1 2

(4) ATl TR RO R W@ 8

1[Option ID=8277]
2[Option ID=8278]
3[Option ID=8279]
4[Option ID=8280]




Sl. No.5
QBID:1554935

Rearrange the followmg parts of a sentence labeled as PQRS to make a
meaningful sentence

P Your hope for
Q if money 18
R never have it

S mdependence you will
(1) QPSR
(2) R5PQ
(3) POQRS
(4) RP3Q

i 21 U 90 7Y § U U (Assertion A) F FU H fAiEd € O g1 SUE SRU
(Reason R) & ¥ H

i@ A 2 UF O TF § S Rl § 5 g5 Wy, ey e o & wes w0 21

FRUR:FaR @ g s s s s N o= sa o 7 |

SURIE HYUF & S H, - fGu T Teed! § 9 999 Sugad TR &1 997 S
(1) A SRR EH T8 8 #RR, A 95 e &

(2) A 3R R &M 961 & 9fE4 R, A 31 951 sore 751 &

(3) A T2 e R udl AE1 2

(4) ATl TR RO R W@ 8

1[Option ID=8281]
2[Option ID=8282]
3[Option ID=8283]
4[Option ID=8284]

Sl. No.6
QBID:1554936

Pick out the antonym of 'spoil'.
(1) dignity

(2) embellish

(3) abolish

(4) abandon




TR AN F IR A - SUT T & 7

A. 91 # yged £ @ Ud Sl WA 810 & |
B. e §yged e & a1 Wl ¥eg Wad B0 & |
C. 9199 ® Ugad 5 & 915 Yeg 919 & (67, 994, SNe AN far & ot § egEnfag

BT R |
DO s oHi AT S e e Tel S W & |

E. 9 iR UG o0 T 51 ¢ |

=4 fed o faseal & 9 981 IR &1 90 Hifo:
(1) AFRE
(2) ARD
(3) A#RC
(4) CIRD

1[Option ID=8285]
2[Option ID=8286]
3[Option ID=8287]
4[Option ID=8288]

SI. No.7
QBID:1554937

Pick out the meaning of underlined idiom in the following sentence.

The judge called for an explanation of his misconduct.
(1) demanded

(2) desired

(3) discussed

(4) repeated

Yl 1S 1Y Gl 11 DT HeH Difore:
T T I
ASTTEIgHAAE |1 [F: DA

B[] dig I8l IL S

& ]ﬁmﬁﬁéﬂ?ﬂﬁ ERIGEE
D [l g G = BV, &

=1d fau U faedl § U el 3R &l 9g4 Difulg:
(1) A-IL B-IIL C-IV, D-I
(2) A-L B-IL. C-TIL. D-IV
(3) A-IIL B-IV, C-I, D-II
(4) A-IV, B-L C-II, D-III

1[Option ID=8289]
2[Option ID=8290]




3[Option ID=8291]
4[Option ID=8292]

Sl. No.8
QBID:1554938

Choose the correct passive voice form of the following sentence :

You can take it away.

(1) It can be taken away.
(2) You have taken it away.
(3) It can't be taken away

(4) You have the choice to take it away.

1 1 = fow o &
HYF-1 : TH AT Herax &1 Aty § - || o
FUF-I1 : AT o § o9 o § - Ram s

SWRIad &Y & HAE H, A fgu 70 Geel # 9 F8l Iu &1 994 i
(1) F¥A-I 3R FYF-II ST 9 2

(2) HYF-] 3R HYF-II A1 390 &

(3) Hv-] 9 & Ofe BYI] 2= 2

(4) YA 3 &, Afea Y11 9 &

1[Option ID=8293]
2[Option ID=8294]
3[Option ID=8295]
4[Option ID=8296]

Si. No.9
QBID:1554939

Pick out the synonym of the following word.

Languid

(1) lazy

(2) smart

(3) genius

(4) wtelligent

FofefEa 8§ 219 saa & e 58 € 2

i




(1) HFaa A, B iR C
(2) 3@ B, C 3R D
(3) H@A A, C R D
(4) a0 C.D R E

1[Option ID=8297]
2[Option ID=8298]
3[Option ID=8299]
4[Option ID=8300]

Sl. No.10
QBID:15549310

Choose the correct sentence.

(1) They never go on holiday. do they ?

(2) They never go on holiday, don't they ?
(3) They never go on holiday, haven't they ?
(4) They never go on holiday, did they ?
Ffalas oot = sfog samgar aefen St

A s sgmae e
B. U& FoR a8 9

C. TF 9l 98l 7§ Tl
D. s 990 a&

E. &1 1 yaferg v

i 132 e foswedl # & 91 9T &1 999 ST
(1) ABCDE

(2) AEBDC

3) EBDCA

(4) BDCAE

1[Option ID=8205]

2[Option ID=8206]

3[Option ID=8207]
4[Option ID=8208]

Sl. No.11
QBID:15549311

What ig a Green Chip company ?

(1) That focuses on eco-friendliness.
(2) That focuses on forest products.
(3) That has no loan pending.

(4) That has not launched IPO vyet.
oW o S E et e 2

(1) o yafawurfirmal ® $iad wdl & |




(2) Wi T9-IaE] W Hi%d wdl ol
(3) T W=E FUTFE T8 & |
(4) o anft smgdtan =1 g A S 8

1[Option ID=8209]
2[Option ID=8210]
3[Option ID=8211]
4[Option ID=8212]

Sl. No.12
QBID:15549312

When Waquar Younis. the Pakistani fast bowler made his debut in Test Cricket
at Karachi. there was a batsman from the visiting side. who also made his debut.
Who wag he ?

(1) Rahul Drawvid

(2) Saurabh Ganguli

(3) VVS Laxman

(4) Sachin Tendulkar

e UlEEH O Healy, 9BR 79 & S H o fhde WoHl g% 501 U, a9 iy us
1 AR ¥ TF Seoa | os SR -oieT B jpera Bt 3 | A B U1 ?

(1) ¥gd =g

(2) HRH TR
(3) T1ETT T

(4) TRA dgasx

1[Option ID=8213]
2[Option ID=8214]
3[Option ID=8215]
4[Option ID=8216]

Sl. No.13
QBID:15549313

Match List I with List 1T

Lisg 1 List IT

(Makeup colors used in Used for/by

Kathakali
A. Green i Evil characters
B. Red II. Noble and Sages
. Black III. Divine Beings
D. White Beard IV. Forest dewellers / hunter

Choose the correct answer from the options given below :
(1) A-II. B-1, C-IV, D-III
(2) A-IV, B-III, C-II, D-I




(3) A-I, B-II, C-III, D-IV
(4) A-III, B-IV, C-I, D-II

T I & 91y a9 11 &1 e St
Ein o I
(@Udel # IR g W 1) (ER:CANRLE)
A. Gl I. ¢ 9
B. Sl 11. TR ST ATy
3 STl III. &g oig
D. g algl IV. TS

i [oE 7Y Aecdl & 9 961 3T &1 994 Sl
(1) A-IL. B-1, C-IV, D-III

(2) A-IV, B-III, C-II. D-I

(3) A-L, B-II, C-III, D-IV

(4) A-III, B-IV, C-1, D-II

1[Option ID=8217]

2[Option ID=8218]

3[Option ID=8219]
4[Option ID=8220]

Sl. No.14
QBID:15549314

Je suis Charlie (I am Charlic) was a slogan spread around after terrorist attacked
on

(1) Charlie Charlie - Children's magazine

(2) Charlie - the footballer

(3) Charlie - the Restaurant

(4) Charlie Hebdo

fore il W HdEHardl gHe & 918 o w3 9l @ 9l §) &1 R 9R1 SR S T o

(1) = 3w - gt B uEe
(2) T - Pearm Bt

(3) =7 - TRl

(4) =t & d=af

1[Option ID=8221]

2[Option ID=8222]

3[Option ID=8223]
4[Option ID=8224]

Sl. No.15




QBID:15549315
Who opened the National Library in Kolkata m 1953 ?

(1) Jawaharlal Nehi

(2) Sardar Patel

(3) Maulana Abul Kalam Azad
(4) Dr. B. C. Roy

1953 H ®Ieal H 48HT TeeN! (WPg wEiey) fee- g 2
(1) o J5s

(2) EER weT

(3) HEET SgE FOH HTE

(4) =& 93

1[Option ID=8225]
2[Option ID=8226]
3[Option ID=8227]
4[Option ID=8228]

Sl. No.16
QBID:15549316

Find the missing alphabet

BDGK. EGIN. MORV. L
(1) LNPS
2) LNQVWV
3) LMQYV
4) LNQU

Fofeiea e & @ seR Tasy -

BDGK. EGIN. MORV. L
(1) LNPS
2) LNQVWV
3) LMQYV
4) LNQU

1[Option ID=8229]
2[Option ID=8230]
3[Option ID=8231]
4[Option ID=8232]

Sl. No.17
QBID:15549317

D. E. F. G, H. I are six persons sitting around hexagonal table, sach at one
corner and facing the center of the table. D is second to the left of I. E 18 the
neighbour of F and G. H 1s second to the left of G. Find who are the neighbours
of H.

(1) Dand G




(2) DandlI
(3) DandE
4) Iand G

D.E.F, G, H 3R 1 U% YeUolig cad & 9R| 3R 48 §U ©: odiad o | 8% adiad
waﬁﬁwéa%aﬁ?%aﬂéfaﬁiﬁ&mﬁﬁﬁmﬁq%I%aﬁmg@
RFWDEIFIRGPIUSIESIGP a5 IRIMYFAWRHT |IHD
TS BT 2

(1) D3RG

(2) D3RI

(3) D3RE

(4) 13R G

1[Option ID=8233]
2[Option ID=8234]
3[Option ID=8235]
4[Option ID=8236]

SI. No.18
QBID:15549318

Of the 100 students in a class. anyone who chooses to study English also studies
computer science. However. no student choose to study English and Physics. 16
students do Physics and computer Science. All the students do at least one of the
three subjects. No. of students who study only one subject 15 more than students
who study more than one subject. What are the maxmmum number of students
who could have studied Physics only?

(1) 16

(2) 44

(3) 84

(4) 68

100 S #1 TF S41 &, o T3 30T 9g+ =1 I7919 B3] & 91 98 $ager G W 9gar &
| ®i5 W B T T W] &1 owgs S &1 991 T8 S | 16 I el AR
HFEX 49 &1 991 B3d ¢ | 9K 914 aF! [99al § 3 $9 § &F U$ 999 ugd ¢l $ad
% 9y 9g- O1d B # 96 UE § Hie Gug ggn o) o #1 98 9 ofis § | Sad
Ui ugs o 2= F1 Hfisay 980 591 5 9Fdis |

(1) 16

(2) 44

(3) 84

(4) 68

1[Option ID=8237]
2[Option ID=8238]
3[Option ID=8239]
4[Option ID=8240]

Sl. No.19
QBID:15549319




The following question has an underlined word. Choose the word from the given
choices that is essential part of the underlined word.

Electric Mixer
(1) Jug

(2) Motor
(3) Stand
(4) Switch

Fafiiaa vy ¥ te T@ifed Usg © | 15U U el § § T weg 94U o T@ifed Weg &1
aifrard e Bl |

fega five cofes e
(1) o
(2) A=
(3) s
(4) &g

1[Option ID=8241]
2[Option ID=8242]
3[Option ID=8243]
4[Option ID=8244]

Sl. No.20
QBID:15549320

Select a suitable figure from the Answer figures that would replace the question
mark (?)

Question Figure Answer Figure

* *| ® e -

2m(e | wsws
| 4y (B) (€ (D@ (1) {2) (3} 4)
(1) 1
(2) 2
(3) 3
(4) 4

IR ATHIaT] § ¥ U I SMHid ST 9899 BT & Y Piog] § uyaHas g &1 ®E o
e |

PEERE B el TR - AT
+ = 00 .
SR IREEIEICIEY
A4) B © (D (n @ 6 ®&
(1) 1




(3) 3
4) 4

1[Option ID=8249]
2[Option ID=8250]
3[Option ID=8251]
4[Option ID=8252]

Sl. No.21
QBID:15549321

In how many ways can 7 different balls be distributed in 5 different boxes. If any
box can contain any number of balls except that ball 3 can only be put into box 3
or box 4 7

(1) 2«6

(2) §°

(3) 2 x50

(4) 56

fdrd TRI | 7 S-S Ta] B 5 SA7-3fe [Sedl H faaid fobar o Idar
g gfe @&Is +f} faea fopa-it off 7131 & T va urd fary 39& o e 9 3
Pad (S8 9B 3 UT4 H g d o 9l © |

(1) 2«6

(2) §°

(3) 2 x50

(4) 56

L /]

L /]

1[Option ID=8253]
2[Option ID=8254]
3[Option ID=8255]
4[Option ID=8256]

Sl. No.22
QBID:15549322

Given that 10948 =x_ 10970 = y and %% = 2. then the value of z is close to :
(1) 3.7
(2) 2.9
(3) 1.88
(4) 1.45

afg 10048 =x, 10070 = y 3k x2 = y2, @ z ¥1 7 T Fwe 591 2

(1) 3.7
(2) 2.9
(3) 1.88
(4) 1.45
1[Option ID=8257]
2[Option ID=8258]

3[Option ID=8259]
4[Option ID=8260]




Sl. No.23
QBID:15549323

In how many ways can 9 different colour balls be arranged in a row so that
black, white. red and green balls are never together ?

(1) 146200

(2) 219600

(3) 314562

(4) 345600

fram aftel 9 u= dfEa # 9 srav-emm T 2 e = el fEm o1 v i e,
Hibe, Tie SR &4 S s Wy A w2

(1) 146200

(2) 219600

(3) 314562

(4) 345600

1[Option ID=8261]

2[Option ID=8262]

3[Option ID=8263]
4[Option ID=8264]

Sl. No.24
QBID:15549324

A tap can fill a tank in 6 hours. After half the tank s filled, three more similar
taps are opened. What is the total tume taken to fill the tank completely ?

(1) 3 hrs 15 min

(2) 4 hrs 15 min

(3) 3 hrs 45 min

(4) 4 hrs

0% 70 U $75 $I 6 He H WX THal ¢ | 79 A1 &5 WX o1l & ol S9! ade & aF S A9
T RU T & / 59 Fe & T aie U4 § $F a1 99 @ 2

(1) 3492 15 e

(2) 4915 e

(3) 3 e 45 e

(4) 42

1[Option ID=8265]

2[Option ID=8266]

3[Option ID=8267]
4[Option ID=8268]

Sl. No.25
QBID:15549325

A person takes 20 minutes more to cover a certam distance by decreasmg hus
speed by 20%. What is the time taken to cover the distance at his origimal speed
5

(1) 1 hr
(2) 1 hr 20 mun




(3) 1 hr10mun
(4) 50 min

afe &S wfe st = BT 20% a1 ¢ df 99 e iy gl @1 ag 3w # 99 20 e
H® T & | 39S 0T 910 9 99 95 gl aF 4 § ol §Ag TR ?

(1) 1de

(2) 19220 fime
(3) 14210 fime
(4) 50 e

1[Option ID=8269]
2[Option ID=8270]
3[Option ID=8271]
4[Option ID=8272]

Sl. No.26
QBID:1424751

Bandwagon effect makes demand more
(1) inelastic

(2) elastic

(3) remains same

(4) unitary elastic

dSaTH M@ (Bandwagan effect) H7T Dl G{fﬂﬁ_ A3,
OB KIERI]

ORI ERIK

(3) HHIH

(4) ZHE A

1[Option ID=7901]
2[Option ID=7902]
3[Option ID=7903]
4[Option ID=7904]

Sl. No.27
QBID:1424752

With reference to the Bertrand model, which of the following is correct?
(1) The duopolists recognize theinr interdependence

(2) It explains price rigidity

(3) Each duopolist assumes that the other keeps its price constant

(4) Each duopolist assumes that the other keeps its quality constant

9215 (Bertrand) Aisd & 9= &, 9 & 9 991 98 &7
(1) fe-afimdt ot amoedt Mafvar o0 21

(2) TE $Hd Tedl BT a0 Sl ol

(3) o fg-fied amar & e oFg oot Fma R W )




(4) 7= -afiei A & & o ol 7 (quantity) R W)

1[Option ID=7945]
2[Option ID=7946]
3[Option ID=7947]
4[Option ID=7948]

Sl. No.28
QBID:1424753

If the demand for agricultural products is inelastic. then
(1) As the prices decrease, the revenues earned by producers increase
(2) As the prices decrease, the revenues earned by producers decrease

The percentage decrease in prices is lower than the percentage mcrease in

3
) demand

(4) Rising prices do not lead to differentiation m producers income
afs FE Iwame! F1 7 a9 & d -

(1) FHF 924 W, ISR g1 ffeid oma 921 &l

(2) ®=9a A W Iaes! grT sifola o gedt &

(3) ®iAdl § Wic=d &4, 77 H o= $H F &5 5l

(4) Tgdl BT SdGH! #1 HE H s T8 St 2l

1[Option ID=7989]
2[Option ID=7990]
3[Option ID=7991]
4[Option ID=7992]

Sl. No.29
QBID:1424754

A fall in the price of a commodity whose demand curve is a rectangular
hyperbola causes total expenditures on the commodity to

(1) Increase
(2) Decrease
(3) Remam unchanged

(4) Increase with constant rate
U a5 forees] A g HadiEr HdWaad (rectangular hyperbola) #1 £Hd # §H W
(1) =&
(2) =em
(3) R wm
(4) BRI TG
1[Option ID=8033]
2[Option ID=8034]

3[Option ID=8035]
4[Option ID=8036]

Sl. No.30
QBID:1424755




The Engel curve for a Giften good s
(1) Negatively sloped
(2) Positively sloped

(3) Vertical

(4) Horizontal

Ith =1 o%] &1 Uoid g BIT-
(1) "AFNIHE Bl

(2) HdFNIHF eIt

(3) wEdd

(4) afew

1[Option ID=8077]
2[Option ID=8078]

3[Option ID=8079]
4[Option ID=8080]

Sl. No.31
QBID:1424756

In the case of price leadership by the dominant firm, all the firms in the purely
oligopolistic ndustry will produce their best level of output

(1) Always

(2) Never

(3) Sometimes

(4) In short run

WY B R, Sd 9d @ U F, 3G seuiier 9eR ® Wi BH o5 Sdgd &
HOITH WY &1 Ide B4l |

(1) FHEEm

(2) =i =&l

(3) R

(4) ge |

1[Option ID=8121]
2[Option ID=8122]

3[Option ID=8123]
4[Option ID=8124]

Sl. No.32
QBID:1424757

The Golden Rule rate of savings refers to

(1) that level of savings which is the maximum possible achievable in an economy
(2) that level of savings rate where the consumption 18 maximised at the steady state
(3) that level of savings rate where the consumption is minimised at the steady state
(4) any level of savings rate

gaa @I e oA o3 fHe 9 98fia § 2

(1) & Wi srlomewyl # S=an Swifaa Wik aren s94 &1 &R




(2) =90 X 1 95 WK 9ol U a1 T ITHRT SiiFHaa ¢ |
(3) 90 &¢ & 98 W el e SERl § SUUF IEag § |
(4) =od X & &5 i TR

1[Option ID=8165]
2[Option ID=8166]
3[Option ID=8167]
4[Option ID=8168]

Sl. No.33
QBID:1424758

The best or optimum level of output for a perfectly competitive firm iz given by
the pomt where

(1) MR equals MC

(2) MR equals AC

(3) MR exceeds MC by the greater amount

(4) MR equals MC and MC is rising

us Wil d =1 wafan / syan S fag ®8i g 2
(1) MR SR 8 MC

(2) MR sI=R 8 AC

(3) MR. MC ¥ 5gd «0ial &

(4) MR ¥R & MC @91 MC g %1 2

1[Option ID=8193]
2[Option ID=8194]
3[Option ID=8195]
4[Option ID=8196]

Sl. No.34
QBID:1424759

Aggregate demand is -

Negatively related to the price level because a decline m the price level has a

(1) negative effect on the demand for output.

Negatively related to the price level because a decline m the price level has a

) positive effect on the demand for output.

Positively related to the price level because a decline in the price level has a

(3) negative effect on the demand for output.

Positively related to the price level because a decline in the price level has a

4 positive effect on the demand for output.

gAY |1 8-
1) FIHd W G TERIAS B9 I TEE o, i SHATTR # FH $1 3dIE & A R’ ASRHS
UHIG Bid1 B

FHT TR @ TERIAT &9 § TEg ¢ JifE FIAd T 8§ 41 54 &1 IdE S A W

2
@) ENHS UHE BIaT 2




(3) FHd R § 9ENEF 9 § GG § il SIAd w1 | A 519 1 IdE St 7 9
THRHE YHG 51 o

FIHT W © TFNIHE ¥9 § THEg ¢ i $Ad T8 § 6 F1 39 $1 A | ISREHS

a4
(4) THE T

1[Option ID=8197]
2[Option ID=8198]
3[Option ID=8199]
4[Option ID=8200]

Sl. No.35
QBID:14247510

The demand for money is -

(1) Positively related to output and the rate of nterest.

(2) Inversely related to output and the rate of nterest.

(3) Inversely related to output and Positively related to the rate of interest.
(4) Positively related to output and inversely related to the rate of interest.
ool &1 AF-

(1) I@TEH 9 o01d 1 g3 A GHRIHS d6Y 2

(2) TIE 9 o6 B 63 # TSRS e 7l

(3) IdIEd § TENIHE § O & & § THRIHS 989 &

(4) IEEA § 9FREAS T 6 B &L § ABRES 989 3

1[Option ID=7905]
2[Option ID=7906]
3[Option ID=7907]
4[Option ID=7908]

Sl. No.36
QBID:14247511

The user cost of capital 1s :

(1) The real rate of interest
(2) The nominal rate of interest
(3) The real rate of interest plus the rate of depreciation

(4) The nominal rate of mterest plus the rate of depreciation
Yol #1 IUOF AW (user cost) &-

(1) =0 1 aride &3

(2) =07 1 9gd 8l A X

(3) =W & TRAIgS & + Hedgld &1 &%

(4) =0 Pl THg X + g B X

1[Option ID=7909]
2[Option ID=7910]
3[Option ID=7911]
4[Option ID=7912]

Sl. No.37




QBID:14247512

When o = 3/4 and p = 1/4 for the Cobb Douglas production function, returns to
scale are

(1) Constant

(2) Increasing

(3) Decreasing

(4) First mereasimg and then decreasmg

oS = 3/4 TUT P = 1/4, 79 Hi S IdIET Bod H, THH & ulawd g
(1) HHH

(2) ®gd

(3) wEd

(4) g H sgd O w2

1[Option ID=7913]
2[Option ID=7914]
3[Option ID=7915]
4[Option ID=7916]

Sl. No.38
QBID:14247513

The natural rate of unemployment equals the sum of :

(1)
(2)
(3)
(4)

Frictionally and structurally unemployed
Frictionally and cyclically unemployed

Structurally and eyelically unemployed
Frictionally. structurally and cyclically unemployed

S F1 Uiplas o 59 F IF & sue 87

(1)
(2)
(3)
(4)

JUUET HIT SEATE S SUETE
LG BT D At =T |l

HEATES AR 99T ST
JUUTSd, SEATES A 9 10 ST

1[Option ID=7917]
2[Option ID=7918]
3[Option ID=7919]
4[Option ID=7920]

Sl. No.39
QBID:14247514

Which of the following statements is correct?

(1)

(2)

(3)
(4)

A variable 1s endogenous when its value is determined by the forces outside the
model.

A change in an exogenous variable is classified as an autonomous change.

A variable 1s exogenous when its value is determined by the forces within the
model.




A vanable 15 autonomous when its value 1s determined by the forces withmn the
model.

Foftfaa § @ sa-a sy 98 -
(1) UF o H<oTd & afg 91 Aed Aisd & g aar o FHuifa gar g1

2) gi%aﬁ =) # gRads B W 9Ead (autonomous change) F ¥4 § Ffiga f&ar wm
I

(3) UF I Afeod &F1 T8 SHE1 Hod AIsd & e gai 9 it g
(4) UF 9 W0 & 99 5061 g Aied & AN gai § [Huiid g gl

1[Option ID=7921]
2[Option ID=7922]
3[Option ID=7923]
4[Option ID=7924]

Sl. No.40
QBID:14247515

According to the Phillips curve. unemployment will return fo the natural rate when

(1) Normal wages are equal to expected wages.
(2) Real wages are back at long-run equilibrium level.
(3) Nominal wages are growing faster than inflation.

(4) Inflation is higher than the growth of nominal wages.
fOpTer g & SITUR, ISR, WIpldd ¥l U1 a4 U &e-
(1) HTHFY HoigRl, YAIRId goigel o avas gl

(2) ARGP TG GrUDTa Sqa WR W dled! (back) B

(3) HIfE® Aoigs], GERPId 3 o 9¢di o
(4) TEROIfd, Aifgs Tugd] & dla 9 34 gidl ¢

1[Option ID=7925]
2[Option ID=7926]
3[Option ID=7927]
4[Option ID=7928]

Sl. No.41
QBID:14247516

The coefficient of Non-determination is equal to -

Explained Variance
Total Variance

(1)

Unexplained Variance
Total Variance

(2)

= LI V A
3) 1ﬂ_]:};]:ul-rnnr.ecl ariance

Total Variance
Unexplained Vanance

(4) 1+ ——
Total Variance




1[Option ID=7929]
2[Option ID=7930]
3[Option ID=7931]
4[Option ID=7932]

Sl. No.42
QBID:14247517

If the two lines of regression are perpendicular to each other then the value of
coetticient of correlation is -

(1) O

(2) +1

3) -1

(4) 2

afg S Tl TETl U go & a9 § of Seee q0ie &1 ’F #41 G
(1) O

(2) +1

(3) -1

(4) 2

1[Option ID=7933]
2[Option ID=7934]

3[Option ID=7935]
4[Option ID=7936]

Sl. No.43
QBID:14247518

The number of terms in the expansion of the binomial distribution (a + b)* is -
(1) 4

(2) 5

(3) 6

(4) 3

faug 927 (g + b)* ¥ TR & 9t 31 S=m = Bl

(1) 4




(2) 5
(3) 6
4) 3
1[Option ID=7937]
2[Option ID=7938]

3[Option ID=7939]
4[Option ID=7940]

Sl. No.44
QBID:14247519

What is the integral of cosec? x with respect to x?
(1) tanx +C

(2) secx +C

(3) tanx +C

(4) —cotx+C

x & AU cosec? x 1 GHIEHE FT BFI?
(1) tanx +C

(2) secx +C

(3) tanx +C

(4) —cotx+C

1[Option ID=7941]

2[Option ID=7942]

3[Option ID=7943]
4[Option ID=7944]

Sl. No.45
QBID:14247520

For the set 4 = {3. 4}. find Power Set P(4)
@) {{3}. {4}}

(2) {{3}. 14}, {3. 4}}

3) {ﬂ} 13} {431

(@) Lo -3 {4). 3.4}

=T A = {3, 4) & U =fEd (Power) §9=10 P(A) T1d &1-
) {{3}. {4}}

@) {{3}. {4}, (3.4}}

@) {0 -3} {43}

(@ to -3 {4} 3.4}

1[Option ID=7949]

2[Option ID=7950]

3[Option ID=7951]
4[Option ID=7952]

Sl. No.46
QBID:14247521




If the international terms of trade settle at a level that 1s between each country's
opportunity cost. then

(1) There i1s no basis for gainful trade for either country
(2) Both countries gain from trade
(3) Only one country gains trom trade

(4) One country gains and the other country looses from trade

afe SRIYIY SR 1 Yd &l &% B HTHR FTd H 6l ad gidl § a9,
(1) ST 3T & o arHeR] AR BT 6IS SMYR el o

() G2 B ORI AH e g

(3) PHad UP 2 B AR I HIUE Bidl

(4) UF ¥ P AYR Y ATH B1a1 § SR UL o% &I AR I 81 8idl 5 |

1[Option ID=7953]
2[Option ID=7954]
3[Option ID=7955]
4[Option ID=7956]

Sl. No.47
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Haberler's theory of opportunity cost is represented by
(1) Indifference curves

(2) Isoquants

(3) Reaction curves

(4) Production possibility curve

T § BIF 2R $ AT ONG HE 1 UgRid Sl 57
(1) Tedl g%

(2) THIAG

(3) wiagfFEm o

(4) TEEA GRS T6

1[Option ID=7957]

2[Option ID=7958]

3[Option ID=7959]
4[Option ID=7960]

Sl. No.48
QBID:14247523

An exchange rate which also takes into account the relative prices of products in
the countries being compared is known as -

(1) Appreciation in exchange rate
(2) Nominal exchange rate
(3) Real exchange rate

(4) Depreciation in exchange rate




o e o ot omit # fafm o1 o ol €1 goaers Sl S wE § vEd § 9 o
HEd o7

(1) A H g

(2) AT AFHD 2

(3) Tralds &g &

(4) TaFmg e d g

1[Option ID=7961]

2[Option ID=7962]

3[Option ID=7963]
4[Option ID=7964]

Sl. No.49
QBID:14247524

Which of the following is consistent with the idea of expansionary fiscal policy?
(1) The fact that government increases expenditure during recession.
(2) The fact that the tax of unleaded petrol 15 lower than that on leaded petrol.

The fact that as people's income mcrease the amount that they pay m taxes also

3) .
mcrcases,

(4) The fact that congestion charges reduce traffic m the city centres.
9 # 9 e Reed= ves g S & R 9 awew w@mar g ?

(1) #HEt F SN TEN g gerl ol

(2) ©S 91 Urd B gorl H 691 98 a1e Yo &R &< B oidl 8l

(3) @l &I 3 984 § 3% g &2 e H gedi e

(4) TG S5 H 99 89 a9 Yo § ¢ih® ®H oral ¢l

1[Option ID=7965]
2[Option ID=7966]
3[Option ID=7967]
4[Option ID=7968]

Sl. No.50
QBID:14247525

1 4
Find the minor of element 8 in the determunant A =|2 3
8 7 12
(1) 6
(2) -6
(3) 12
(4) -12
1 4 o
IR A=[2 5 9| HUS 8 BT Y GRS JId DL
g 7 12

(1) 6




(2) —&

3) 12

(4) —12

1[Option ID=7969]
2[Option ID=7970]

3[Option ID=7971]
4[Option ID=7972]

Sl. No.51
QBID:14247526

For the total cost function C = 1000 + 120x + 14x% + x7, find marginal cost
function.

(1) 1000 +x + 14x% + 3x

(2) 120 + 28x + 3x2

(3) 28x + 3x?

(4) 120x2 + 1423 + x*

9 aFd BaA C = 1000 + 120x + 1432 + »? & Ry Jiora 99 wod 914 S
(1) 1000 +x + 14x% + 3x

(2) 120 + 28x + 3x2

(3) 28x + 3x?

(4) 12002 + 147 +3*

1[Option ID=7973]
2[Option ID=7974]
3[Option ID=7975]
4[Option ID=7976]

Sl. No.52
QBID:14247527

If the value of standard deviation i1s 3 and that of arithmetic mean is 9 then find
the value of coefficient of vanation ;

(1) 0.33%

(2) 33.33%

(3) 3.33%

(4) 0.03%

ofg e oo &1 919 3 § w8 Sl A1 %1 9 § af famwm qoie &1 34 71 S
(1) 0.33%

(2) 33.33%

(3) 3.33%

(4) 0.03%
1[Option ID=7977]
2[Option ID=7978]

3[Option ID=7979]
4[Option ID=7980]

Sl. No.53
QBID:14247528




: : oy :
For an economy, the marginal propensity to consume 18 a and the marginal tax

. the value of multiplier 15

O e

rate is
(1) 3

(2) 2
36

(3) !
3

4) 12

Uw rfonaeun & Ui ot i vafa % ¢ 3R i PR Bt R é gl
S50 &1 919 1 GHT?

(1) 3

(2) =
36

(3) l
3
4) 12

1[Option ID=7981]
2[Option ID=7982]
3[Option ID=7983]
4[Option ID=7984]

Sl. No.54
QBID:14247529

In which year was the Kisan Credit Card started?
(1) 1995

(2) 1998

(3) 1994

(4) 2000

farar Hige =12 g of § urey gam
(1) 1995

(2) 1998

(3) 1994

(4) 2000

1[Option ID=7985]

2[Option ID=7986]

3[Option ID=7987]
4[Option ID=7988]

Sl. No.55
QBID:14247530




If one of the regression coefficients value 1s greater than 1, then the value of the
second regression coefficient must be -

(1) less than 1

(2) greater than 1

(3) equalto 1

(4) equalto 0

ofg UF TaiaTHA uiE &1 99 1 ¥ & g, 7 g UdiaeEs Qi &1 7149 AT-
(1) 1934

(2) 149 ais

(3) 1 & ==

(4) 0 F TR

1[Option ID=7993]
2[Option ID=7994]
3[Option ID=7995]
4[Option ID=7996]

Sl. No.56
QBID:14247531

On the imposition of a tariff. the welfare of a country improves
(1) wrespective of any other factor

When the dead weight loss due to production and consumption distribution is

@) oreater than terms of trade gan

When the terms of trade gains is greater than the losses due to production and

() & onsumption distribution

(4) under no circumnstances

5 Rk & RO R, TN F FeuTw § gYR BT E -

(1) &g 4 30 sRe W wE G &5

(2) TE SS9 (HAHN) &7 Sde SR IUUF Gaen R oy @1 94l § S gar gl
(3) TE TUR ATH F TG IS oyl 94 a0 & &R0 24 gl 7H1 ¥ f9E g B
(4) foreit off ofiefRufa & =gh

1[Option ID=7997]
2[Option ID=7998]
3[Option ID=7999]
4[Option ID=8000]

Sl. No.57
QBID:14247532

In a symmetrical distribution the value of coefficient of Skewness 1s

(1) +1
(2) -1
(3 0

(4) 3




U% FHAT g2 § {9 Uie &1 7119 | SR
(1) +1

2) -1

3) 0

(4) 3

1[Option ID=8001]

2[Option ID=8002]

3[Option ID=8003]
4[Option ID=8004]

Sl. No.58
QBID:14247533

Rural landless employment guarantee program was launched m the year
(1) 1980

(2) 1982

(3) 1983

(4) 1985

T o # T YR SRR TINUE ThaHT a1 &1 157
(1) 1980

(2) 1982

(3) 1983

(4) 1985

1[Option ID=8005]

2[Option ID=8006]

3[Option ID=8007]
4[Option ID=8008]

Sl. No.59
QBID:14247534

Consumption : C =100 + 0.84
:1=50

The output produced by the economy is 800. The level of unplanned inventories 1s
(1) 100

(2) 10

(3) 10

(4) 150

ST -C = 100 + 0.84
1=50

Al srforawy gRI 3™ S3TYE BT HE 800 § dl (641 IS & dUR &I 15
i BT TR 1B 2
(1) 100




(2)
(3)
(4)

10
—-10
150

1[Option ID=8009]
2[Option ID=8010]
3[Option ID=8011]
4[Option ID=8012]

Sl. No.60
QBID:14247535

Match List I with List IT :

LISTI LISTII
Investment

A S tiinalee L [BoFRabn

B Emplovment I Milton

© | Multiplier " |Friedman
Eestatement of

¢ |Meguantdy | gr o g
theorv of
monesy

D Supply S.lde IV |1 M. Kevnes
ECONOIICS

Choose the correct answer from the options given below :

(1) A-IV, B-1, C-II, D-III
(2) A-I, B-II, C-III, D-IV
(3) A-IV, B-1I, C-III D-1
(4) A-II, B-1V, C-III, D-I

i 1S 1y g 11 BT e Sifen)
T T I
HR T,
A (AR (1|
B. RWRUi® | 1. |fieed hedq
R eH=
C. |31 & BIf-ecl| UL [T TWR
R HIE HAT
@ 9158 .
D. o V. |&. 09, $14

=Td feu U fadedl § T Ual 3R & 904 DIl ;

(1) A-IV, B-1, C-II, D-III
(2) A-I, B-II, C-III, D-IV




(3) A-IV, B-1I, C-III D-I
(4) A-II, B-IV, C-III, D-I

1[Option ID=8013]
2[Option ID=8014]
3[Option ID=8015]
4[Option ID=8016]

Sl. No.61
QBID:14247536

Match List T with List I ¢

LISTI LISTII

A e I.  |Paul Rosenstein Rodan
poverty
Development with

B. |unlunited supplies of II.  |Gunnar Myrdal
Labour
St oot | iy | W AvbucLewis
thesis

D. |Asian Dirama IV.  |Ragnar Nurkse

Choose the correct answer from the options given below :

(1) A-IV, B-11, C-1, D-III
(2) A-II, B-III, C-I, D-IV
(3) A-lL, B-II, C-III, D-IV
(4) A-IV, B-III, C-I, D-II

a1 1S 1y Gl 11 &1 e eifsm)
T T eI
A [TETE LSRR
- |od® T IR
oGl @
B |eiifaufd&| I TR amRed
o1y faserg
C | L II1 mw
- |9 Sen " |=gfew
v :
D. IV, (IR 95
-9 feu e fawedl § 9§ el S| @1

(1) A-IV, B-II, C-1, D-III
(2) A-IL B-III., C-1, D-IV
(3) A-I, B-II, C-III, D-IV

g PO -




(4) A-IV, B-1II, C-1, D-II

1[Option ID=8017]
2[Option ID=8018]
3[Option ID=8019]
4[Option ID=8020]

Sl. No.62
QBID:14247537

Under which Sustamable Development Goal. energy is included?
(1) SDG S5

(2) SDG 7

(3) SDG 9

(4) SDG 13

Had e & 9 Teg Sava Soie! TEe o T a7
(1) SDGS5

(2) SDG 7

(3) SDG 9

(4) S5DG 13

1[Option ID=8021]

2[Option ID=8022]

3[Option ID=8023]
4[Option ID=8024]

Sl. No.63
QBID:14247538

What has been the growth rate of the world economy in 20217
(1) 2.6%
(2) 3.9%
(3) 4.8%
(4) 6.1%
2021 ¥ fay srforaw 91 fawm o2 fead
(1) 2.6%
(2) 3.9%
(3) 4.8%
(4) 6.1%
1[Option ID=8025]
2[Option ID=8026]

3[Option ID=8027]
4[Option ID=8028]

Sl. No.64
QBID:14247539




Match List I with List II :

LISTI LISTII
A | Canon of Taxation | 1. | Alfred Marchall
E. Tehutt sty II. |Muzgrave
Argument =
&, [centpl 1 ek lik
Incidence
i [Ciesteatot IV: | Adam Smith
demand

Choose the correct answer from the options given below :
(1) A-IV, B-1, C-III, D-II
(2) A-III, B-1V, C-1, D-II
(3) A-IV, B-III, C-II, D-I
(4) A-II, B-III, C-I, D-IV

Y 1 Y=l 11 1 (e Sifsu|
T T eI

A waﬂ 1 |3chs AR

B. %ﬂ%ﬂﬁﬁﬂ I |9&a

C. m 1. (Thsie fore

D. [AM@idE |1V [TsH Ry

- i Y fasred & 9§ e] OOR ®1 98 Do

(1) A-IV, B-1, C-III, D-I1
(2) A-III, B-1V, C-I, D-II
(3) A-IV, B-III, C-II, D-I
(4) A-Il. B-III, C-I, D-IV
1[Option ID=8029]
2[Option ID=8030]

3[Option ID=8031]
4[Option ID=8032]

Sl. No.65
QBID:14247540

Ramesh and Suresh constructed their new house in thig year In the national
mcome accounting this transaction is considered as

(1) Inventory investment

(2) Fixed Investment




(3) Consumption on durable goods

(4) Consumption on semi-durable goods

THET 3 R F oI o H U1 7 W S | AP A oEe § 5F 9HaeR B
iEiRie

(1) =@ fHgw

(2) =E fFEm

(3) CFHNH Tl &1 ITHA

(4) Sd-feFTa aegaft &1 99um
1[Option ID=8037]

2[Option ID=8038]

3[Option ID=8039]
4[Option ID=8040]

Sl. No.66
QBID:14247541

Given below are two statements :

Statement I : Narasimhan Committee recommended reduction of SLR (Statutory
Liquidity Ratio) and CRR (Cash Reserve Ratio).

Statement 1T : Narasimhan Committee recommended that directed credit
programme should be promoted.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

HE €1 BYA 30 7 € UF iU (Assertion A) ¥ w9 # [0 & df g9 S8 SRU
(Reason R) & U #,

iy A: TRRITE SAE 3 19, U9, AR, @uiiSe daa ogue) #R &L ol 3R, (%g
T ) B 92 B Sg B 2

HRU R: TR0 SHE B S & HITR 9 SHH &1 agral [gar o
IUlad HYF & RS H, A (2T 70 el § 9 ¥99 Iugad IR BT 994 Sl

(1) A JRX R SHf T8t & ST R, A & 98! o &
(2) A JRR SH ¥E1 € iR R, A & 98 oorem T8 &

(3) AT EAFI R TS T 2
(4) ATS "SI e e R 8 2

1[Option ID=8041]
2[Option ID=8042]
3[Option ID=8043]
4[Option ID=8044]

Sl. No.67




QBID:14247542

Given below are two statements :

Statement I : Zammdan system was mtroduced by Lord Cornwallis,

Statement IT : Under Zamindari system village land were held jomntly by
communities,

In the light of the above statements. choose the correct answer from the options
grven below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement 1I is true

A g1 By faU 0 B, U SfHEYA (Assertion A) & U H 0@ 8 O gHU I9E BRU
(Reason R) & &4 #,

HYHYA A: TS SHaTeE F TG W1 &1 TR )

HRO R: FHIGR] 941 & 310 9™ & §R1 91 &1 9914 $1 §g9q 9 9 @1 9|
IUTTd BYA & HElS H, A ST 70 Ayl § 9 998 Iugad TR 1 994 Sl

(1) A JR R SHf T8t & ST R, A & 98! o &
(2) A JRR SH 981 € iR R, A & 98 oorem T8 8

(3) ATStefmm RS T 2
(4) ATS "SI e e R G 2

1[Option ID=8045]
2[Option ID=8046]
3[Option ID=8047]
4[Option ID=8048]

Sl. No.68
QBID:14247543

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : There 1s automatic change m the net tax revenue when level of
output changes.

Reason R : Automatic stabilization moderate aggregate spending m times of
boom and slow down.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R i NOT the correct explanation of A

(3) A is correct but R 15 not correct
(4) A is not correct but R 15 correct

i g1 By fay 70 B, UF SifHFUF (Assertion A) F w9 H fif@a & 1 guv suF sww
(Reason R) & ¥4 &,

HUHYT A: 98 I A1 § S 5idl & a4 499 S o0 § wWa: ufaas g
HRO R: G110 RMUE SRS ool S} 7] & 999 o097 $1 9iaiiéd $3d 5

SUiE HYA & A d, A fu U fGeed| § 9 999 Iugad ST’ &1 994 S|




(1) A R R SHf T8t & 3T R, A & 98! o &
(2) A SRR SH 9 € iR R, A & 921 sorem 187 8

(3) ATSIE OB R O 781 &
(4) AT S e R a2

1[Option ID=8049]
2[Option ID=8050]
3[Option ID=8051]
4[Option ID=8052]

Sl. No.69
QBID:14247544

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Asgertion A : India's public sector helped in the development of a sound
mdustrial base.

Reason R : Public sector is under state control. The role of state in formulating
appropriate policies and providing financial and other support has helped the
public gector.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R i NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

2 G 7w Ry U & uF iU (Assertion A) F w0 F ffed & & g0 96 SRO
(Reason R) & ¥4 H,

HFYUT A: UG F GdwEE 87 T | e R & G § wggn faan

HRU R: gduE 89 T & o 21 wgfha it o &3 SR it au e
e &4 # Ten @1 Yie € gdefae 89 ® §gd Heg el 8

SR FUT F AHWP A, A" [GU T OFe] § § 999 I9gad 3R &1 999 Sl

(1) A SRR SH Tl AR R, A $1 951 orem &
(2) ARREA T iRR, A F =gl corem 7 &
(3) ATS 2 afeT R gl 781 2

(4) A 9% 8§ dfe R 981 ¢

1[Option ID=8053]
2[Option ID=8054]
3[Option ID=8055]
4[Option ID=8056]

Sl. No.70
QBID:14247545




Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : Theory of social goods provides rationale for the allocation
functions of the budgetary policy.

Reason R : There are certam goods which are non-rival and these are important
for maximizing social advantage.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R 1s not correct

(4) A iz not correct but R 15 correct

I g1 Sy U T2 B, % SfHEYA (Assertion A) ¥ w9 A [T § O g0 99F RO
(Reason R) & ¥4 &,

HHHEYT A; SIS o% & fagra sucig ity & ended &1 &1 [Gawsfia 5= 21
®RU R: $ ik a5d § o1 TR gfag<! 3R 9Wifod o1y &1 Hfieaq &4 § Agagu g
SR BUA & HWIP |, A" QU T Adedl § § 999 I9gad IR &1 99 S

(1) A 3R R SF T8I § SRR, A F1 T51 & &
(2) A SRR EH T E MR R, A 31 98 sorem T e
(3) AGEZAfpT R wdl 78T &

(4) AW T8l s aeA R 8l ¢

1[Option ID=8057]
2[Option ID=8058]
3[Option ID=8059]
4[Option ID=8060]

Sl. No.71
QBID:14247546

Country A requires 2 units of labour to produce a unit of X and 5 units to
produce a unit of Y: where as country B require, 3 units of labour to produce a
unit of X and 6 units to produce a unit of Y

(1) A has absolute advantage m the production of good X as well as Y
(2) B has absolute advantage in the production of both good X and Y

Though A has an absolute advantage m the production of both goods. it has a
comparative advantage in the production of Y

Though B has an absolute advantage m the production of both goods. X and Y it
has comparative advantage i the production of X

W A &1 X o5 B UH 5015 & 0d &3 & [0 2 5H1s Hogll &1 wedd 9sdi & SR Y
T B UF GH15 I 309 B P 00 5 TS B TP 3 B B X I B U 5HE P
SF B & 100 3 TS Auigdl B AR Y O] @ UF SHTE B S0d B & O 6 SHE
gl B Wetd 9Sdl & |

(1) AFTEX & Y Ty Y 530 B Icdd &34 B [Hdef @Y gl
(2) BHUNEX R Y & a%all & 3009 S H ey @y B

(3)

(4)




(3)

(4)

TgU & A F U9 g1 a5gall & 9dd &34 | -N0e TY §, 596 U9 Y 0% &1 odd 44
# U goies ay Wi § |

79 B #1 X o5 9% Y 9% 21 &1 I0d B4 § ey Y B 59 99 X 7% #f 9dd
& | UF geTeEs a1y 2

1[Option ID=8061]
2[Option ID=8062]
3[Option ID=8063]
4[Option ID=8064]

Sl. No.72
QBID:14247547

According to the Pareto Criterion, a movement from state A to state B is
desirable :

(1)

(2)

(3)

(4)

if all agents are at least as well off n B as they were m A and at least one of
them is better off.

if all agents are at least as well off m B as they were in A and no one is better
off.

if the agent with lower welfare are found to improve thewr welfare m B in
comparison to A even when those with higher level of welfare in A are found to
witness decline m welfare.

if in B all the agents are having lower difference n their level of utilities

TRl Sfedl (GREl PISCRTT) & S9R I8 A Yo B H Uda- dd 9i-10 &

(2)

RN T T B H HH I TH Id- ol UH1 & fold- d Iog A H 9 3R 378
I UH HY Y HY S1el 91 8l |

RN T I BETA Y HAITI ol U8 a1 d Tsg A H 4 3R 30
AP H SRRl g |

gig 9 S e Toic A DI a1 H B H 307 Hedivl & T H YR D O1d

(3) B Safd AT I=d HedI0 & TR dTd Toic T € Ol eamn § St Hegy $ %

gl

(4) Tfg B H FH Toicl & TUHIT & TRI H HH 3R 8

1[Option ID=8065]
2[Option ID=8066]
3[Option ID=8067]
4[Option ID=8068]

Sl. No.73
QBID:14247548




Match List I with List II :

LISTI LISTII
A |Industrial District [. |H. Dalton
B. |Kinked Demand Curve II. A Marcshall
gy frogles SCEERENEL | g | sy
social advantage -
D. |Law of invisible hand IV, |Adam Smith

Choose the correct answer from the options given below :
(1) A-IL. B-III. C-I. D-IV
(2) A-IIL B-II. C-I. D-IV
(3) A-IV. B-I. C-II. D-III
(4) A-IL B-IV. C-III, D-II

T 1 S 1Y il 11 o1 e ®ifom)
TqA 1 T I
A, |3t fan L |09 Bl
B. |[ddfaa#i s I L I
¢ %ﬁwﬂww“ I |giq TH. il
D. |3e9gEn o fusl v, [usH Yy
e feu U fadedl § T Tol 3R @l 99+ Sifv|

(1) A-IL B-III C-I. D-IV
(2) A-IIL B-II. C-I. D-IV
(3) A-IV. B-1. C-II. D-III
(4) A-I B-IV. C-III. D-II
1[Option ID=8069]
2[Option ID=8070]

3[Option ID=8071]
4[Option ID=8072]

Sl. No.74
QBID:14247549




Match List I with List II :

LISTI LISTIT
A |Inventory Theoretic Approach I |3 M Keynes
Liquidity Preference as a .
5 behaviour towards risk AL, Wl B
c. Money as a temporary abode of U s e diian

purchasing power

A discontinuous mdividual
D. |speculative demand for money [TV, |[JTames Tobin
function

Choose the correct answer from the options given below :
(1) A-I B-II, C-IV, D-III
(2) A-IV, B-III. C-II. D-I
(3) A-IL B-III C-IL, D-IV
(4) A-IV, B-1I, C-III, D-I

a1 1S 91y Y=l 11 &1 e Sifen)

AT g 11

A |3 wRfes wiE L [d oA &

T aRTH & SiaH

T s I [S of. 9\

c. gf"“ﬁm% M |feeT wish

D. %ﬁ% v [og eifad

S0 R A4 hdh

i< faU U fao el o 9 gl 3Tk &1 999 i -
(1) A-I, B-II, C-IV, D-11

(2) A-IV, B-III. C-II. D-I

(3) A-I, B-IIIL, C-II, D-IV

(4) A-IV, B-II, C-III, D-I

1[Option ID=8073]

2[Option ID=8074]

3[Option ID=8075]
4[Option ID=8076]

Sl. No.75
QBID:14247550




Match List I with List II :

LISTI LISTII

A |Monopolies Inquiry Commuission 1. |2016

Monopolies and Restrictive Trade -
B Ipractices Act (MRTP Act) i |eee
C. |The Competition Act IIL. 1970
D. 'Cfilge[nsoh'ency and Bankruptcy v oo

Choose the correct answer from the options given below :
(1) A-I B-IL C-III. D-IV
(2) A-II. B-III. C-IV. D-I
(3) A-II B-IV. C-III. D-I
(4) A-IV. B-III, C-II. D-I

T 1 914 gl 11 &1 i Sifew)

T 1 T I
A |UDIEDR bl HHIEH I |[2016
B [5¥ DR U SRIHD . |1965
TN gdgRATa-an
C. |wfawayl sfafog L [1970
D. |Zdaa-difcanea) s | Iv. [2002
i fu 7T faedi § O 98l 3k &1 994 Sifeg

(1) A-I, B-IL C-II, D-IV
(2) A-II, B-III, C-IV. D-I
(3) A-IL B-TV, C-III. D-I
(4) A-IV, B-III, C-II, D-I
1[Option ID=8081]
2[Option ID=8082]

3[Option ID=8083]
4[Option ID=8084]

Sl. No.76
QBID:14247551

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : Green Revolution benefited only Punjab, Haryana and Western
Uttar Pradesh.

Reason R : Irrigation was necessary for the success of green revolution.

In the light of the above statements, choose the most appropriate answer from
the options given below :




(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R 1s not correct

(4) A is not correct but R 1s correct

= &1 v 3y 0 B, uF Sfi@yT (Assertion A) & w4 # i@ g a1 gaw1 9w sRu
(Reason R) & ¥4 H,

HiwYT A: sha ®ifa 3 Saa doe, ghamm qur ofidt Sax wew &1 8 oy ugarn)
HRU R: 5Na Hifg &1 gwaar & @ far srowms 9

SURIEd BUA & HWIP |, A" [GU T Aeedl § § 999 I9gad IR &1 99 S

(1) A 3R R SF T8I § SRR, A F1 951 & &
(2) A SRR &H 981§ 3R R, A #1951 a1 451 &
(3) AT Z AfpT R wdl 78T &

(4) ASE T8l e aFA R 98l ¢

1[Option ID=8085]
2[Option ID=8086]
3[Option ID=8087]
4[Option ID=8088]

Sl. No.77
QBID:14247552

Match List I with List I :

LISTI LISTII
Principle of Absolute r \
A Advibties [ |Bybczynski

Effects of factor endowment
B II. |Samueslzon
charges on trade

C. | Theory of reciprocal demand |II1 |Adam Smaith

Factor price equalization
theorem

D. IV ] 5 Mill

Choose the correct answer from the options given below :
(1) A-IIL B-II. C-IV. D-I
(2) A-IV. B-IL. C-I. D-III
(3) A-IIL B-I. C-IV, D-II
(4) A-IIL B-TV. C-II. D-I




i 1S 1Y Gl 11 BT e eifor)

AT G 11

A |[FRUgevmifig | 1 [Eddl
MR R JdGA

B. (ua3igHe uligdi &1 I [39eH
THIG

c. [oRefmanfigN | 1 [ty
JdIcd HRD HiFd i

D. g v |9 g faa

e feu U foedl § O el 3O &l 90+ DIl
(1) A-IIL B-IL. C-IV, D-I
(2) A-IV, B-IL C-I, D-III
(3) A-IIL B-I, C-IV, D-II
(4) A-IIL B-IV, C-II, D-I

1[Option ID=8089]
2[Option ID=8090]
3[Option ID=8091]
4[Option ID=8092]

SI. No

QBID:

.78

14247553

Match List I with List II :

LISTI LISTII
A |'Wealth of Nations [. |David Ricardo
B. |Treatise on Money II. |Jagdish Bhagwati
C. |In defence of globalization II1. {Adam Smith
Principles of Political "
B Economy and Taxation B (M e

Choose the correct answer from the options given below :
(1) A-III, B-1V, C-II, D-I
(2) A-I, B-II, C-III, D-IV
(3) A-IV, B-III, C-II, D-I
(4) A-IIL B-I, C-IV, D-III




i 1S 1Y Gl 11 BT e eifor)

AT T I
A |deY T® ST 1 [SiasRa&rsi
B, [dIETa o &t 11 A MR )
ERIEE R
C 3E 0 3 I |(TsH Y
D. el o o V. |9 mH g

=g f4u U fasedl § U Hal 3R &1 99 Bifell ;

(1) A-III, B-IV. C-II. D-I
(2) A-L, B-II, C-III., D-IV
(3) A-IV, B-III. C-II. D-I
(4) A-IlL, B-I, C-IV, D-III
1[Option ID=8093]
2[Option ID=8094]

3[Option ID=8095]
4[Option ID=8096]

Sl. No.79
QBID:14247554

Match List I with List II :

LISTI LISTII
& Permanent Income 1 John Maynard
" |Hypothesis T |Kevnes

B Inter-temporal consumption Hi et
models g

C. |Relative Income Hypothesis |III. |iing Fisher

5 [Pt e IV. [ Mitton Friedman
Hyvpothesis

Choose the correct answer from the options given below :

(1) A-III, B-IV, C-II, D-I
(2) A-IL B-II, C-IV, D-III
(3) A-IV, B-III. C-II. D-I
(4) A-IL. B-1, C-IIIL, D-IV




i 1S 1Y Gl 11 BT e eifor)

AT I 11
A, [ g ulRE e I [FE8 &g

B. q&%ai e ST I |fege &l

c. |smufggemmuiderr | m |3 R
D. [FAugmmufieeaa | v |fHwa head

e feu U fadedl § T ol 3R &l 90+ Sifold
(1) A-IIL, B-II, C-II, D-1

(2) A-L B-IL C-IV, D-III

(3) A-IV, B-IIL, C-II, D-I

(4) A-IL B-I, C-III, D-IV

1[Option ID=8097]
2[Option ID=8098]
3[Option ID=8099]
4[Option ID=8100]

Sl. No.80
QBID:14247555

Given below are two statements :

Statement I : If rows and columns are interchanged and columns into rows the
value of the determinant remains unaltered but the sign changed.

Statement IT : When two rows or columns are interchanged the numerical value
of the determinant changes but the sign of the determinant remains unchanged.
In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I 15 incorrect but Statement IT 15 correct

4 < By few o g

FU= | - Ofe v IRfte #f ufead &1 wril & gco o 3R wwit &1 9iFaat # gear oo a1
TRftE =1 7 75 geud & W EE S5 9 2l

FYF 11 : 9 &l Tl (adjacent) HiEaal a1 FHIG w= il $1 o199 # g o191 & af GRS
FT1 MUK A 920 991 & T IR &1 s ufakda =8 s 2l

SUiled YA F o H AR B Beaf # 9 98t 3w =1 = wifem
(1) EIARIISA g
(2) FE AR IS s\ 7




(G) A Ivd e AT SUT Il 3T &
(4) FYH ] 90 e dfesT s I 90

1[Option ID=8101]
2[Option ID=8102]
3[Option ID=8103]
4[Option ID=8104]

Sl. No.81
QBID:14247556

Given below are two statements :

Statement I : The statistical constant of the population are known as parameters.
Statement IT : The square root of the standard dewiation of the sampling
distribution of a statistic 15 known ag the standard error.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mcorrect

(3) Statement I 1s correct but Statement II is mcorrect

(4) Statement I 1s incorrect but Statement II 1s correct

RS = Ry g

Fuq | : 979 & difenen BRIE F1 999 (Parameter) 54 ¢

w2 [« Hifers! & ofdggs ffaw & aFs TR0 & o & 946 3 &5d 5
SRIE FYT & @IS H, A" [0 T el # ¥ 96l 9T &1 999 il

(1) AR e 9T g
(2) FYEI Rl eHf s &
(3) FvE [ 9@ & o SuF 11 o9d &
(4) T T AT wuF [l 99 &

1[Option ID=8105]
2[Option ID=8106]
3[Option ID=8107]
4[Option ID=8108]

Sl. No.82
QBID:14247557

Given below are two statements :
Statement I : Monopolistic competition involves many sellers of homogeneous

products.
Statement IT : The oligopoly mvolves some producers of standardized or

differentiated products.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true




= &1 By fjw T B

®U [ ; SIS Uaaiial § 96 aega & - ded o o

& 1 ; SEUER § ©Use a1 fandiga gl & $@ &bl aid ol
IO HYF & 3Hdie H, g 8T T fawed! § 9 95l IR &1 9G4 S|

(1) sE ARl eAf sa 2
(2) FUF] AR IS4 3 &
(3) T [ 9@ & e euF 11 a2
(4) FE] 3O T s [ 90 5

1[Option ID=8109]
2[Option ID=8110]
3[Option ID=8111]
4[Option ID=8112]

Sl. No.83
QBID:14247558

Given below are two statements :
Statement I : An Adverse supply shock reduces the marginal productivity of

labor.
Statement IT : Output i the short run is a function of the equilibrium condition in

the labor market.
In the light of the above statements. choose the correct answer from the options

oiven below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement IT is false

(4) Statement I 1s false but Statement II is true

e g wy= Qe e 7

®u | : ofawa gfd =& (Shock) 4® #1 Jora SdgHal $1 £ 2 4l ¢l

&Y [] ; 7Y S § SAIE 9F SR 1 98 SR &1 o ol ol
JUlad Y & e H, 4" fgu U fgwedi § 9 951 39 &1 99 Sl

(1) sE ARl eAf sa 2
(2) FUF] AR IS4 3 &
(3) T [ 9@ & e euF 11 a2
(4) T 3O T s [ 90 5

1[Option ID=8113]
2[Option ID=8114]
3[Option ID=8115]
4[Option ID=8116]

Sl. No.84
QBID:14247559




Given below are two statements :
Statement I : A rise in the rate of inflation means that the percentage rise in average

prices 1s higher than the previous one.

Statement IT : The Phillips curve suggests that a fall in unemployment is likely to
lead to lower rates of wage and price mflation.

In the light of the above statements. choose the most appropriate answer from the
optiong given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II is mcorrect

(4) Statement I 1s incorrect but Statement I 1s correct

TR e feum B

HY | ; qaeiia &1 &X & g+ &1 4 7 1 sfraa qeal @1 ufowa g od § o8 g1
w11 ; Tosferes o aaral & & S0el & fiee gugdl vd ge=wifa &1 53 &1 &5 S|
SRIEd HYF @ S H, i fGU Y fdeedl # ¥ TRl 9K B 90 Sl

(1) E ARl eAf §a &
(2) FE] ARl aH sFa &
(3) ®YF [ 9 &, Gfted U9 [ T &
(4) AT AT s I T 8

1[Option ID=8117]
2[Option ID=8118]
3[Option ID=8119]
4[Option ID=8120]

Sl. No.85
QBID:14247560

Given below are two statements :

Statement I : The number of exchange possibilities that exist in a money
economy exceeds the number in a barter economy.

Statement IT : An merease m the length of time for which money is held wall
reduce the veloeity at which money circulates in the economy.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect

(3) Statement I 1s correct but Statement II 15 mcorrect

(4) Statement I 1s mcorrect but Statement II 1s correct

EIERARUE R r AT

wuF [ - ga srefogaen ¥ gy semest =1 9o o5 @59 (Barter) sifema=n 1
SHU&T HiE TR

®F [1 : 751 &1 T8 & 900 | geiod, sricqawyl # 75l & 90 & 37 B $H $2 &
IUiiad ®YH & HTlE O, Aid f3u U Geed! § 9 95l I &1 994 Sl

(1) :EIMRIISAIgT s
(2) HYF [ AR II EHT e




(G) B Ivd e AT SUT Il 3ET &
(4) FYT ] 90 e afesT s I 909

1[Option ID=8125]
2[Option ID=8126]
3[Option ID=8127]
4[Option ID=8128]

Sl. No.86
QBID:14247561

Given below are two statements :

Statement I : The main features of the Industrial Policy - 1991 includes abolition of
industrial licensing, diminishing role of public sectors, MRTP limit scraped.
conditions on entry of foreign investment and technology liberalized and so on.
Statement II : First Industrial Policy Resolution was igsued in 1951,

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 15 incorrect
(4) Statement I is incorrect but Statement II is correct

T2 S wyT Ru e B

He [ A T 1991 #1 vgE Evarsit & deife asdg &1 59, aduiTe a5
&1 Hifw1 B 7, AR 31 Jim &1 5o, [Go=h fFew 21 ufeff & fow =, ok
ddia] BT FeieL e B

U 11 : TuE St i veam ad 1051 & W T

TURIed BYF & oeE | A1 Bu o Bea! # 9 951 3T &1 99 St

(1) S AR SH 90 &
(2) HuE 1 3R 11 el s &
(3) Hv [ 9@ &, o BuT 11 29 2
(4) T ] 39T &, Afed HUF [l 90 &

1[Option ID=8129]
2[Option ID=8130]
3[Option ID=8131]
4[Option ID=8132]

Sl. No.87
QBID:14247562




Match List I with List II :

LIST1I LISTIT

MNational Rural Emploviment ”

£ Programme (NREP) k. 20
Sukanyva Samridhi Yojana II. 1980
Food for work programme

52 (FWP) III. | 1983
Rural Landless Emplovment

D). |Guarantee Programme IV |2015
(RLEGP)

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-II, D-I
(2) A-I, B-II, C-IV, D-III
(3) A-II, B-IV, C-I, D-III
(4) A-III, B-1I, C-IV, D-I

a1 1S 91y Y=l 11 &1 e Sifen)

T T &I

g
A f I |2001

(NREP)
b1 5
B. i 1. [1980

& & fag
C. |Yyea odey | 1L (1983

(FWP)
THI e
D ISR TR V. [201
[ .

(RLEGP)

=1 f<u U faoedl H ¥ Ul 37k &1 904 il ;
(1) A-IV, B-IIL C-II, D-I
(2) A-L B-IL, C-IV, D-III
(3) A-IL, B-IV. C-I, D-III
(4) A-IIL B-II, C-IV, D-1

1[Option ID=8133]
2[Option ID=8134]
3[Option ID=8135]
4[Option ID=8136]




Sl. No.88
QBID:14247563

Who propounded the "Jail Cost of Living Method" for determining the poverty
line?

(1) Prem Krishna Murti

(2) Dadabhai Naroji

(3) Tendulkar Samiti

(4) Amartya Sen

T v B Pt s & e o sk o fifd &ty s1 wiooes G B

(1) 38 F1 g
(2) EETHTS ARSI
(3) dgus? HiHd
(4) @@

1[Option ID=8137]
2[Option ID=8138]
3[Option ID=8139]
4[Option ID=8140]

Sl. No.89
QBID:14247564

Consider the following statements regarding arguments for free trade :

A. Free trade leads to maxumization of output, mcome and employment.
B. Free trade prevents monopoly.

C. Free trade protects domestic mdustries.

D. Free trade favors the monopoly.

Choose the correct answer from the options given below :
(1) A and C only

(2) A and B only

(3) Cand D only

(4) B and D only

ooy $yEl w450 IR & 9y # g% w9 H fdEr i

A. T TR IdEH, AF 3R TR & H¥HaH RE Fgrdl o
B. g5 IR USSR &1 sl o

C. T3 SR 9%, ST T A0 HXal &

D. 5 SIUR USNIHR &1 90E &3al ol

=i feu U [A@cdl § § 999 Iugsd TR &1 904 S
(1) Fam A 3R C
(2) Fael A AR B
(3) HIEC AR D




(4) FEE@B 3k D

1[Option ID=8141]
2[Option ID=8142]
3[Option ID=8143]
4[Option ID=8144]

Sl. No.90
QBID:14247565

The core principle of multilateral trading system is :

A. Non-discrimination
B. Reciprocity

C. Protectionism

D. Domestic safeguard

Choose the correct answer from the options given below :
(1) A.B and D only

(2) B and C only

(3) B. Cand D only

(4) A and B only

Sg9sa s YRl & g faar g

A, Tr-disTm
B. ogesa

C. TI&UETS
D. o] &
A feg 7Y Al H § 999 3uged TR &1 994 Siad|
(1) Ha@ A, B SR D
(2) Ha@ B &R C
(3) @ B, C IIRD
(4) FHaa A SR B

1[Option ID=8145]
2[Option ID=8146]
3[Option ID=8147]
4[Option ID=8148]

Sl. No.91
QBID:14247566

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : India has a big potential demographic dividend.

Reason R : India's population growth rate is declining.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A




(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

i 21 U 30 70 §, UF AU (Assertion A) & ¥9 H & § A g8 S9S HRU
(Reason R) & U H,

HUFYT A: UG & U AAiUE THITENE oRaifee! AT 2

HRU R: A & oae &t gfg & § S o Wl 8

IUTTd HYA & HElS H, A ST 70 Aeedi § 9 998 Iugad TR 1 994 Sl

(1) A JRX R SHf T8t & ST R, A & 98! o &
(2) A JRR SH ¥E1 € iR R, A & 98 oorem T8 8

(3) AT EAF R TS ST 2
(4) ATSI S e e R G 2

1[Option ID=8149]
2[Option ID=8150]
3[Option ID=8151]
4[Option ID=8152]

Sl. No.92
QBID:14247567

Given below are two statements :

Statement I : A common resource 1s rival and non-excludable.

Statement IT : A public good is non-rival and non-excludable.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

S EEAEICrR

HUT 1: U I THIYE Hicdf € 9T TIR-3Masi® g

HUF 11 : Yraolf-e a5 TR wiaes qur R sasi® g

SRIF PY & IS T, - [SU T fdpedi § ¥ ga Iuged 3R &1 984
EqEiy

(1) HYFI AR SA TTE

(2) PYFI AR I aH T &

(3) HYT1HA 8. Wl PYTII 3R &

(4) FUFI AT, AT sy naas

1[Option ID=8153]
2[Option ID=8154]
3[Option ID=8155]
4[Option ID=8156]




SI. No.93
QBID:14247568

Fiscal policy relates to the Government decision in respect of -

A. Taxation

B. Government spending
C. Government borrowing
D. Repo rate

Choose the most appropriate answer from the options given below :
(1) B and D only
(2) A.B and C only
(3) A and D only
(4) C and D only

s T # wer o1 ol e 9ifd @ o=@y 22

A, BIEGT

B. 9t@n =g
C. TEEN] YN
D. m e

A feu Ty fowedl | 9 9o Sugad &1 999 S|
(1) HEa B 3R D

(2) HFAA, B AR C

(3) HFAA SR D

(4) Fa@C SR D

1[Option ID=8157]
2[Option ID=8158]
3[Option ID=8159]
4[Option ID=8160]

Sl. No.94
QBID:14247569

The following data of an economy is given
C=1000+0.84
1=3500

The equilibrium level of output is

(1) 15000
(2) 1500
(3) 7500
(4) 8000




uF rfoemn =1 2o offwe Ay e §
C =1000—+0.84
[=500

T3 qe (i) &1 arees W) 1 g
(1) 150600

(2) 1500

(3) 7500

(4) 8000

1[Option ID=8161]
2[Option ID=8162]

3[Option ID=8163]
4[Option ID=8164]

Sl. No.95
QBID:14247570

The first derrvative of x* 15
(1) xlogx

(2) x 1

(3) x* (1-ogx)

(4) x* (1+log x)

x* &1 YA oA R 2
(1) xlogx

(2) yy1

(3) x* (1-ogx)

(4) x* (1+log x)

1[Option ID=8169]
2[Option ID=8170]

3[Option ID=8171]
4[Option ID=8172]

Sl. No.96
QBID:14247571

The expected value of x for the probability distribution function of the random
variable given below is

x 1(x)
3 0325
6 0.50




(1) 3.25
(2) 95
(3) 6
(4) 12

e aefeses wiitea de7 Bo & sufiE am-x FaffEa 2 -
x fx)
3 23
6 0.50

9 0.25

(1) 3.25

(2) 95

(3) 6

(4) 12

1[Option ID=8173]
2[Option ID=8174]

3[Option ID=8175]
4[Option ID=8176]

Sl. No.97
QBID:14247572

A standard normal distribution refers to a random variable that has a
(1) Mean of 1 and standard dewviation of 0

(2) Standard dewviation of 1 and mean of 0

(3) Mean of 0 and standard dewviation of 0

(4) Mean of 1 and standard dewviation of 1

US HFE Y 0w U arefase 9% &1 ve il ol & s o

(1) T 1 R AW a0 8

(2) A fGmem SR aeE 0 7

(3) T O HRAFS a0 &

(4) "1 | IR AFS g 18

1[Option ID=8177]
2[Option ID=8178]
3[Option ID=8179]
4[Option ID=8180]

Sl. No.98
QBID:14247573

FRBM Act, 2012 puts a ceiling to fiscal deficit of GDP at
(1) 6%
(2) 5%
(3) 4%




(4) 3%

U, HRELTA, AYHEH, 2012 950 9 SdE © T6S 6 °1e »] S=ad 9m g H ¥
&g W Fuifa & 2

(1) 6%

(2) 5%

(3) 4%

(4) 3%

1[Option ID=8181]

2[Option ID=8182]

3[Option ID=8183]
4[Option ID=8184]

Sl. No.99
QBID:14247574

The locus of combination of output interest rate where the assets market is in
equilibrium, is

(1) IS curve

(2) LM curve

(3) BP curve

(4) none of the above

3M3eqc @ SaIweY & a0 &1 5oy, Ti5! giedtd - SI9R 9qo- | &

(1) ISTF

(2) LM 3®

(3) BP 3%

(4) 39 ¥ &5 Ja1

1[Option ID=8185]
2[Option ID=8186]
3[Option ID=8187]
4[Option ID=8188]

Sl. No.100
QBID:14247575

Startng from the earliest arrange the following in chronological order -

A. Global Fmancial Crisis

B. East Asian Cries

C. Great Depression

D. Gold Standard Mechanism

Choose the correct answer from the options given below :
1) C.D.A.B
2) A.B.D.C
3) C.D.B. A
@) D.C.B. A




TEE YU I U Sd H &1 S0 SHER aiyd Sl

A. &fis g d3e
B. qd uRmrE dee
C. "HeA<]

D. U 5% Zal

i fau o fawed! § © 981 SO &1 994 SIvE
1) C.D.A.B

2) A.B.D.C

3) C.D.B. A

4) D.C.B.A

1[Option ID=8189]

2[Option ID=8190]

3[Option ID=8191]
4[Option ID=8192]




